Q6 and Q7 should be Darlingtan Transistors, that is the idea.
The rail voltage is reduced compared to JAT idea because of 40hms load

requirment and bad SOA of T0220 Darlington.
Q4 thermal and mechanicl connected to Q6

With 2x 15VAC transormer we get about 21Volts rail

R14, R15 are set to OR33 because of save margin of the Darlingtons.

Connect SGND to PGND with seperate wire

c1
n R1
Signaltnput 22K 4}

CCS with 1mA ™)

A=
! [

R2
] 2k=—= ©?

™ 220pF
SGND
SGND
H1 H3
MountingHole MountingHole
H2 H4

MountingHole

MountingHole

PWR_FLAG PWR_FLAG PWR_FLAG

I

SGND

[]

PGND

R19
10R_LW
— L )2
c6 c7 +
oy Fuse_4A_slow bl
LED_green 2.2V_set to 2mA R12 use_fA_slow blow
/ 390R €5 220pF_lytic | 220n
N
K R7 +
2N5401 R13 220pF_lytic
1 - - i
Q ks %7 W9§{Z_T0220_Darllngton
Q6 \
\ &1
4R7_0.6W \ moupted on heat sink 1,5uH
~~ N rd
\\ R15 R17
Qs OR335W 10R_3W
BD139_T0126 . — 1
/ ¢ LT
/
_|_~" thermal and mechanical
connected to Q6 NPN Darlington R14 C10 1
2N5401 OR33_5W 100nF
Q2 Q3 =
R8 ~
c
FB1 Ny \ o6
—_— a7
) 10R_3W PGND
100pF 4R7_0.6W | SR
470uF_lytic Bhysuc| T0224_arlington
T ~_]_-
C3 C11 100pF PGND
GND moufted on heat sink
R6 SGND )
1k4 AV % cs, c9
2N5551
|
R18 220FF_lytic 220nH F2
1 J3
¢ ¢ — _
10R_1W Fuse_4A_slow blow

J1
quT +

GND



